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Find mZzQRP. .mzQRP 2o
Q
104"
45°
K A
O mzQRP = 34°
O msQRP = 49°
G} msQRP = 31°
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O m<QRP = 46°



o M [ B
2.2 Ol S @ e E A -2023-2022 JJUl  Laal |i"-[ﬂ"lil"i""|'t-1-1ﬁdh-bhyj-ﬁ

| el
749 -]

J
K
1 2H =B
| I —
— RN e o

D ’ tA=sH



5 A - 2023-2022 DU Laddl @lai jLisl - 200 Slusl 4l - plz

In the figure, 27 = 115°. anes7 = 115° Jga o

Find m21. ansl gl

3\4
1\ 2
g\’
5\6

® mzs1 = 115°
&) mes1 = 65°
O mes1 = 100°

'® mzs1 = 25°
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ﬁ Ifms1=113" and gmesl = 113° pls 12
m£LABC = 131°. mzsABC = 131°
Find m«2. Mmz2 gl
»
A
1
C
B

ms2=113°
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) ms2 = 23°
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Which property apply for the given Bllaea) Blall o dudais Auals gl
statement, if AB = CD, and CD = EF, & .CD = EF 3.AB = CD g\ 13|
then AB = EF. .AB = EF

Aatieal] ghaill gaa duals
Segment Addition Property

-----------------------------------------------------------------------------------------------------------------------------------

Gkl B gndl Al

Transitive Property of Congruence

---------------------------------------------------------------------------------------------------------------------------------- -

Sl deey) Auals

Reflexive Property of Congruence

Gl E Ll Al

Symmetric Property of Congruence
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O 21,25

O 28,24
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If 28 = »£6. LB =26 oS
State the theorem that proves p||q. Pllg ol oldy dasaaadl 4 a1 <l

X N
N\

o +
Perpendicular Transversal Converse

0 Al sl Llg 3l ugSea

Consecutive Interior Angles Converse
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Alternate Exterior Angles Converse

sl Audatal Lig 3l ugSaa
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Alternate Interior Angles Converse
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What is the slope of a line parallel to pisall (5jlzall audiosall Joa La
the line with the equation y = —3x 4 47 ‘y = —3x + 4 43lilea ,-_-;JJI-
3
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1
3
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Which property apply for the statement:
- ﬂ -
a =20 UEE = 10 gl 1)

a
"E = 10, then a = 20.

----------------------------------------------------------------------------------------------------------------------------------------------------------------

alslaall 2 7okl dumals
Subtraction Property of Equality

Alaleall B dasdl) sl
Division Property of Equality

Alsledl) A Ll Auals
Addition Property of Equality
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Find the value of x. X Aaid -3—‘.'..9‘

80°

f
’ x=175
T < F—— I
I

@) x =100
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Find the value of h. h dad aa
D
10 cm. 10 cm.
F 60° 60 E
h cm.
h=9
----------------------------------------------------------------- - : -“h :-ID R
--------------------------- h=28
h=11
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X=3 yx=-2

Find the distance between the parallel

lines x = =2 and x = 3.
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Which pair of triangles have enough SLSY AlS Claglea 4 ity O T8J s
information to prove that the triangles Syles b aldaiul Adlkda Sl gl
are congruent using side-side-side ¢(SSS) A giLal)
(SSS)?

X a0 Y

o ‘:3}

w = 4
B
A C
D
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Through any two points, there is exactly one line

E@E@M!ﬁg@gﬂ1w1glj.hﬁpggm
s

If two points lie in a plane, then the entire line containinc

points lie in that plane

Lk pasly Akl 2 0% Lagrhll ol laskioc ahlds 1)

If two lines intersect, then their intersection is exactly on¢

S =SS
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near points

A plane contains at least three noncolli
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Paru QL v IS — A anu JUILA — & UV 1S ML L <S>
ms3 = (x — 36)°. .ms3 = (x—36)°
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